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T.Y.B.COM SEMESTER - 6
SUBJECT: CE303A- Management Accounting- 11
ASSIGNMENT (FEBRUARY - 2025)
(English Medium)

Q.1

Q.2

Q.5

The standard mix of a product is as follows:

Material | Kgs. | Price per kg. / Rs.
A 50 8
B 30 8
C 20 10

The standard loss in production is 10% of input. There is no scrap
value. Actual production of the product was 8,100 Kgs.
Actual Consumption of material and cost were as follows:

Material | Kgs. | Price per kg. / Rs.
A 4,800 9
B 3,000 7
C 2,200 9

You are required to calculate Materials Variances.
Standard labour hours and rate of production of Article P is given below:

Labour Hours | Rate per
per unit | hour Rs.
Skilled 8 5.00
Unskilled 6 4.00
Semi-skilled 4 3.00
Actual production 10,000 Units.
Labour Total | Rate per
(Hours) | hour Rs.
Skilled 90,000 4.00

Unskilled 51,000 5.00
Semi-skilled | 30,000 2.50
Calculate the following variances:

(1) Labour Cost Variance

(2) Labour Rate Variance

(3) Labour Efficiency Variance

(4) Labour Mix Variance.

What is Standard Costing? Explain its Benefits and Limitations.
The details of overheads of Sagar Ltd. for a month are as follows:

Particulars Budgeted | Actual
Output (in units) 20,000 | 22,000
Operating Hours 20,000 | 22,500
Fixed Overheads (Rs.) | 80,000 | 90,000
Working days 25 26

Calculate Fixed Overheads Variances.
Find out the following Sales Variances from the given data:
(1) Sales Value Variance
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Q.6

Q.7

(2) Sales Price Variance

(3) Sales Volume Variance

(4) Sales Mix Variance

(5) Sales Sub-Volume Variance

Product Standard Actual
Quantity | Price | Quantity | Price
(Units) | Rs. | (Units) | Rs.
A 800 3 750 3.50
B 200 5 450 4.00

Kadam Ltd. wants to purchase one of the two alternative machines, each
costing Rs.10,00,000. Estimated life of each machine is 5 years. There is no
scrap value. Expected rate of return is 10%. Expected earning after
depreciation and taxes are as follows:

Year | Machine X | Machine Y
Rs. Rs.

1 1,20,000 80,000

2 1,40,000 1,60,000

3 80,000 2,80,000

4 5,20,000 6,00,000

5 4,20,000 1,60,000

Advise the company regarding the selection of the machine as per
following methods:
(1) Pay Back Period
(2) Net Present Value
Present value of Rs. 1 at 10% discount rate is as follows:

Year 1 2 3 4 9)
Present Value 0.909 0.826 | 0.751 | 0.683 0.621
M. Limited wants to purchase a machine for which two mutually exclusive

alternatives are available: Machine X and Machine Y. The details are given
below:

Particulars Machine X (Rs.) | Machine Y (Rs.)

Initial Investment 15,00,000 20,00,000
Expected Life 5 years 5 years
Profit after Depreciation and tax:

Year 1 1,50,000 4,00,000
Year 2 3,00,000 6,00,000
Year 3 4,50,000 3,00,000
Year 4 5,00,000 7,00,000
Year 5 6,00,000 2,00,000

Company’s cost of capital is 10%.

Calculate:
(1) Net present value

(2) Profitability Index and suggest which machine should be purchased.
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Present value of Rs. 1 at 10% discount rate is as follows:
Year 1 2 3 4 3)
Present Value 0.909 0.826 | 0.751 | 0.683 0.621
Q.8 One Company gives the following information.
Selling price per unit Rs. 8
Variable cost per unit Rs.5
Fixed cost Rs. 60,000
Sales at present 30,000 units
Calculate the following:
(1) Profit-Volume Ratio
(2) Break-even point in units
(3) Margin of safety in units
(4) Necessary sales to get profit of Rs. 2 per unit.
Q.9 Following is the details of S. Company Ltd.
Sales (Rs. 18 Per Unit) | 20,000 Units
Profit-Volume Ratio | 33.33%

Margin of Safety 45%
Find out:
(1) Break-even point (in units)
(2) Profit

(3) Fixed expenses

(4) New break- even point if fixed expenses increase by 10% (in units).

(5) New break-even point if sales units increase by 25% (in units).
Q.10  Explain:

(1) Relevant Cost

(2) Opportunity Cost

(3) Step Cost

(4) Key factor

(5) Sunk Cost

(6) Break Even Point (BEP)
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B.Com Sem - 6 (CBCS)
Jda@s ax : 2024 - 25

ellRcdl2 U2 — 1- Indian Economy - 2 (Core - 106)

= s : 1 - BdRAlA AWR Aya Akl del :
= Unit: 1 - International Trade & Balance of Payment
1) GURAHL %ol €M alet (AE o AUWREAL sEHT (YHIRL) WAL ¥§1Rll AU 3.

= Discuss the changes Occurred in the SIZE of foreign trade during the Planning period of
India.

2) Rl et g allet [AE 2 AUIRell eFUHL Al URcldello{l AUl 53
= Discuss the changes Occurred in the NATURE of foreign trade of India during the Planning
period.
3) @URAML Aot €Mt [Az e AuiRell (Baunl vudel ¥8RAe(l Al 3.
= Discuss the changes Occurred in the DIRECTION of foreign trade of India.
4) cllcioll 2023 - 2028 oll [zl AuReAlAA uul 53
— Discuss the (New) 2023 - 2028 foreign trade (EXIM) Policy of India.

> s : 2 — aleusla ol
» Unit: 2 - Monetary Policy
5) RBI oll (@014 46l M1 - M2 - M3 - M4 - oll VAA Y-S
e Explain the RBI’S Approach of M1 - M2 - M3 and M4.
6) RBI o{l sleugla o{l[dolt 320 Axstcll RBI oll sttousla o{l[Qotl Atololl vAl 53

e Explain the Objectives of Monetary Policy of RBI and Discuss its tools of Monetary Policy
of RBI

7) MRcHl AFlaAF /7 AN3AA{ Aosloll s1Ho(3L ua Aol Yol AAL s3A.

e Discuss the Working and Problems of Nationalized Banks in India.

< Unit: 3 - Fiscal Policy
8) A5 oot (AL Ul UHAA.
v Discuss the Different tools of Fiscal Policy.
9) &2 Woll A UL Aol GESN / Sl AR Heedl UHHLA.

¢ Give the meaning of Public expenditure and Explain its Objectives (Purpose) and
Importance.

10) witL YaRlell a1 - w33l ual ystAoll Al 52
v" What is Deficit Financing ? Discuss its Necessary and Types.

> ASH : 4 — YHA ol
> Unit:4 - Federal Finance
11) AHAA ollRlicdotoll vallel Al MR AHL Fos Al AR <R sl W sllRligla Altellell aduell cauazal

ETRIL N



e Explain the concept of Federal Finance and Discuss its Functions and allocation of
Distribution between Centre and States in India.

12) 154 ettt (@AW ol vl
e Write a note Fifteenth Finance Commission.



Shri K. K. Shastri Government Commerce College.
Maninagar, Ahmedabad.
Subject : Auditing-2 Class - T.Y.Bcom (Sem-6)
Assignment - Year - 2025
Instruction : ALL QUESTIONS ARE COMPULSORY.

Q.1 You are appointed as an auditor of a newly incorporated public limited company. State the
preliminary information you would require before commencing the audit.

YA &R s:Uo{loll 2Sl2R d3lE drFl [Augs scudl il 8. 28l 23 sl woUB
AHR 3l yd tldclell 232 usd Q seudl.

Q.2 Discuss the provision of the Companies Act and auditor’s duties in respect of distribution of
dividend.

YR (3(Ass aduell »13 srus{lueedl HotcueSll 2l w20l s98lell Al 53,
Q.3 Difference between Clean Report and Qualified Report.

Y3 Al AUSAUE uA WHlA HEUA dRA dslald AHAA,

Q.4 Difference between Audit Report and Audit Certificate.

.Y 5|2 WA et L2 YHIRUA R dslelcd -,

Q.5 Write a Note on: Basic Elements of the Auditor’s Report.

YU ol AL : ARL AL AUScll Aol AR Y cecll UM

Q.6 From the following information of Meghdoot Industries, ascertain divisible profit for the year
2011.

Year Profit or Loss Depreciation Depreciation as | Profit or Loss
before Provided per Companies | after
Depreciation Act Depreciation

2009 -21000 -2100 -7000 -28000

2010 -3500 -3500 -10500 -14000

2011 +42000 -4200 -14000 +28000

U5 ollAoll 1Al GuRel Rugd Fsxdloell 2099 otl ol adURllULt o5l L.



a AR USCLoll | YRLell s1Us{lulRU AR Ulall
A8l 5 ofslol | SOl Yol YR oA $l-afsllot
R00¢ -24,000 -2900 -9000 -2¢,000
090 -3400 -3400 -20,400 -2%,000
0% +¥2,000 -¥00 -9%,000 +2¢,000

Q.7 From the following information of Ramleela Company, ascertain divisible profit for the year

2013-14
Year Profit or Loss before Depreciation as per Unabsorbed
Depreciation Companies Act Depreciation
2011-12 -90,000 30,000 7500
2012-13 +30,000 45,000 12,000
2013-14 +3,15,000 75000 | -

Y9 o{lAe{l HIdl GuRall RAHcllett sruc{lott 2093-1% oll el aduR(ULA o§l 20,

ar YARL USCLoll o1fl | s1uo{lull Yool wUAH(AR dARL
% ofslat AR

R011-R -¢0,000 30,000 9U00

R09R-3 +30,000 ¥,000 1R,000

R093-9% +3,44,000 OY,000 |-

Q. 8 Distinguish between Auditing and Investigation.

Y.¢ ASIE0L Aal AeAMRL LA dsleld wRu.

Q.9 Prepare an Audit Programme of:

1. Any Commerce College / Educational Institutions

Ye Sl YWoLH / stisH daulR 3.

Q) S5 uRL Sl SlA% / Aa@ls el

Q.10 What do you mean by Investigation? What are the points to be considered at the time of

investigation?

Y. 0 WoAnel WA 2, ? oAl 5l arad ot Fall YAl Luletdl AR

Q. 11 Write the investigation procedure on behalf of an intending purchaser of a business?




Y. 21 del WRleal HidtelR adl AeaneLl 3.
Q. 12 Which points to be considered while preparing Audit Programme?

YR Sle sRisH sl awa 58 elleddl LuletHL gl




SHRI K K SHASTRI GOVERNMENT COMMERCE COLLEGE
ASSIGNMENT B.COM. SEM-6
Year 2024-25
Subject: Statistics -VI

English Medium: -
Unit | Testing of Hypothesis

Que.1 Explain Terms: Statistic and Parameter, Type-I error and Type-I1I error, Level of
significance, Critical Region, Power of Test

Que.2 A random sample of 900 members is found to have a mean of 4.45 cms. Can it be
reasonably  regarded as a sample from a large population whose mean is 5 cms and
variance 4 cms? (Ztab=1.96)

Que.3 The mean of a random sample of 1000 units is 17.6 and the mean of another random
sample of 800 units is 18. Can it be conclude that both the samples come from the same
population with standard deviation 2.6

Que.4 A coin was tossed 400 times and head was obtained for 160 times. Can the coin be
regarded as biased? (Ztab=1.96)

Que.5 The mean I. Q. of a sample of 1600 children was 99. Is it likely that this was a
random sample from a population with mean 1.Q. 100 and S.D. is 15?

Unit 2 Decision Theory
Que. 6 Explain elements( Act, Event, Pay of Matrix) of Decision Theory.

Que.7 Write notes on: Maxi-Min Principle, Laplace Principle
Que. 8 Determine best act for the following pay-off matrix by applying
(i)Max-min principle (ii) Maxi-max principle (iii) Hurwitz’s principle( o =0.4)

(iv) Laplace principle

Event Act
AL A Az Ay
S1 10 6 3 -2
S 5 -2 4 8
S3 -3 7 -1 6

Que.9 The cost price of a commodity is Rs. 7 per unit and its selling price is Rs. 10. The
commaodity can be returned at Rs. 5 if it remain unsold during a day. The probability
distribution of its demand is as follow. How many units of the commodity should be kept
daily?



Demand of the commaodity (units) 0 1 2 3 4

Probability 0.15 0.20 0.25 0.35 0.05

Que.10 The cost price of a thing is Rs. 2 per unit and its selling price is Rs. 4. The unsold
things during a week become worthless. From past experience the weekly demand of the

thing is as follow.

Demand per week 20 25 40 60

Number of week 5 15 25 5

Unit-3 Theory of Games
Que.11 Define terms: Game , Payoff matrix, pure and mixed stretagy. Saddle point
Que.12 Explain : Minimax and Maxmini principle used in the theory of games.

Que. 13 Solve following game proble.

Player B
15 2 3
Player Al 6 5 7
-7 4 0
Que. 14 Solve the following game problem
Player B
6 8 —-16 10
Player A|0 3 —4 4 ]
18 4 10 4

Que.15 Solve the following game
7 1l
Unit-4 Matrix Algebra
Que.16 Give difference between Matrix and Determinant
Que. 17 Explain following matrix : Identity matrix, Diagonal matrix, Symmetric matrix

Que. 18 prove that

1 2 2
2 1 2] satisfies the equation A2- 4A- 1 = O wher | identity matrix and O is
2 21

A=

Null matrix.



Que. 19 Solve the equation using inverse matrix

2x+3y—z=5
3x+2y+z=10
x—5y+3z=0

[10 a 3

Que20 IfA=[2 7 c] is a symmetric matrix, find a. b and c. Also find a matrix B such
Lb 4 5

that A + 2B =1, where | is a unit matrix.

6 3

Que.21: If A=|—3 9 [,Find the matrix B such that 24T + 3B = 0

12 —6

Where O is a null matrix .




SHRI K K SHASTRI GOVERNMENT COMMERCE COLLEGE
ASSIGNMENT B.COM. SEM-6
Year 2024-25
Subject: Statistics -VI

oAl HiLauH :

YlAe 1 : uRscusll uRawl

sl 1: WEL AU UL ol wowaLs, YaH ysiRell ¢ aal ollst ysiRell ¢,
A sdloll sa, salsdlell ygal, udlatele] Aired

Yl 2 : 900 Asoll Ws AN AEWS olle Aul Hras 4.45A.H] U B. AU 583G
alesoll aaua ¥ ul (e Al Uil A B3 % AHR Heas 5 A wal
(QaRel 4 AH HA B?  (Ztab=1.96)

ysgl 3: 1000 Aol As [Aeloll HEas 17.6 © =22 800 AsHlallow olost
Qedloll HEAs 18 B. Al AH ARl sl astal ¥ oial QAeall As & wHERH Aaunl
el B 3 Bo] YHIRld [Qudet 2.6 B.

Y4 : A5 RAsslal 400 duld Gl 160 cdd BIU HA B. Rssl MR B ¥ 3
dUuRll. (Ztab=1.96)

Y8l 5 : 1600 Gllaslotll s (Ae Ml AR ¢ffgHclloll uis 99 ULl Gul AN
5ol asta ¥ Al [Aedl ARRAA offdHllol 4is 100 uA Y.(A. 15 Slal Al AR uiel
AlEDs Ild dladl B2

Ylle 2 : [Aelasll Reuid
sl 6 : [Aofaetl Rudicetl uesl (g, uesll, dndA@ls) [@AA Al
Yl 7 : 5ol Aull: 93-dy Rtuid, dlvciall Rituid

gl 8 : oflAoll cnctr ARs HR (i ) 93-dyY Ruicl (i ) 913-913 Rtuid (iii)
STl Rt >l (a=0.4) (iv ) AR oll Rtuid YA A s otssl 5.



teall ®Ie
A1 Ao As A
S1 10 6 3 -2
S, 5 -2 4 8
Ss3 -3 7 -1 6

Ys9 : As clReoll USAR (BHd 3. 7 B Aal Aol AuRUEHA 3. 10 B. % A did ol
AuA Al Rartoll 2 d 3. 5HL URd dualHl A 8. £A%6(l 1oLl ellclotls]
Qe oA YA B dl £ decll crdall Al RSN ?

Aecell 0.15 0.20 0.25 0.35 0.05

Ysl 10. WS clrde] GUlEat WAL 3. 2 ® ol doll AsHEls AuRABEHUA 3. 4 DA A
ddq AsalllSal eMutol of AU A A aistHl &L oA B. Asll Wscuslalell ARl
oll Qcslotell wssL o{lA Yxu B,

wsalSatell Hiat 20 25 40 60

wsal(Satell dva 5 15 25 5

Y2 3: Wdoll Rruid
Yst 11, WEL AHAA : Mt , AR ARls, ure ual (st s, uctex (olg
YUsl 12 :coll Rttid Ui 93-Ay wal dY-9[3 Rtuld M.

Yl 13 o{lAe{l 21l G5t Al

Player B

15 2 3
6 5 7
-7 4 0

Player A

Y 14 ool -l GEA ANl



Player B

6 8 -—-16 10
Player A|0 3 —4 4
18 4 10 4

ysgl 15. o{lAell 1Al G35 Rl

2 1l

Yl 4 : AR sqf ollawou@ld
yg 16. AQs WA Rauasell dslold sRUA.
yat 17. o{lAcll A se{l cautval U

AsH AWQs , @Asel ARs |, AR As

1 2 2
2 1 2
2 21

AsH A s wUA 0 9ot AQs B.

sl 18. 40U 5A ¥ A= , AlsR0L AZ- 4A- 1= 0 of UMl 52 D L |

yg 19. cd Asoll Heedl oAt uxls00 G3AL
2x+3y—z=5

3x+2y+z=10
x—5y+3z=0

10 3
UH20 A2 7 o ifd AQs A AL, a bwA ¢ N, GUrict B AQs Ad)
b 4 5
Al ¥ Bl A+2B=1, % 1A AsH AWQs D.
6 3
ysl 21: LA=|-3 9 [A AMs B A N ¥ ¥ 24T + 3B =0,
12 —6

U 0 A 9o AEls B.



ASSIGNMENT

B.COM SEM-6

Difference between of Indemnity contract and guarantee contract.
Write Rights and duties of bailee.

Difference between of private and public company.

Director position as per legal situation.

Write define of consumer and its rights.

State and district dispute consumer protection council.

Difference between of promissory note and bill of exchange.
Write negotiable instrument define and its elements.



Q-2)

Q-3)

Q-4)

Q-5)

Q-6)

Q-7)

Q-2)

Q-3)

SEMESTER-VI
(Fundamentals of Financial Management)

(ctleuslaL AAUEso Ydc)

What do you mean by Financial Management? Discuss the scope of
Financial Management.

stleusla AUt WA 9? dleusla AAlcade] stldte(l uAl
5.

Explain Profit Maximization and Wealth Maximization as goals of
Financial Management.

sitelsla AUEototl Sl 33 wlase] HsdHlsel wa Auldd

HetHlsReL Anenal,
Discuss the role of Finance Manager.

sitell Aalxa{l ¢RsA seudl.

Briefly discuss the various concepts of Cost of Capital.
YSloll UscRell QY vaudloll vl s,
What do you mean by Cost of Capital? Discuss its importance.

YISl uscRk A2@ 9? doj HUscl UMl

Write a note on:
1) Pay Back Period Method
2) Annual/Average Rate of Return Method

&8 ol cAull:
1) URdl U uta(d

2) AR dcdRell €0l Ut
Explain the meaning, effects, and remedies of over capitalization.
U(AYS|501tl M, WU, Wl GULA UMl

Discuss the concept of Operating Leverage, Financial Leverage, and
Combined Leverage.

512053 [AAR%, otaisla [AARy, wa UYsd [AARxe vald

ULl
Discuss the types of working capital.

stlallat Yslott ysAoll uAl s2U.



Q-4) Explain the disadvantages of inadequate working capital.

AUYRcl stalallcd ygloll AR FLAEL AU
*kkikkkk



B.Com Sem - 6 (CBCS)
Jda@s ax : 2024 - 25

ellRcdl2 U2 — 1- Indian Economy - 2 (Core - 106)

= s : 1 - BdRAlA AWR Aya Akl del :
= Unit: 1 - International Trade & Balance of Payment
1) GURAHL %ol €M alet (AE o AUWREAL sEHT (YHIRL) WAL ¥§1Rll AU 3.

= Discuss the changes Occurred in the SIZE of foreign trade during the Planning period of
India.

2) Rl et g allet [AE 2 AUIRell eFUHL Al URcldello{l AUl 53
= Discuss the changes Occurred in the NATURE of foreign trade of India during the Planning
period.
3) @URAML Aot €Mt [Az e AuiRell (Baunl vudel ¥8RAe(l Al 3.
= Discuss the changes Occurred in the DIRECTION of foreign trade of India.
4) cllcioll 2023 - 2028 oll [zl AuReAlAA uul 53
— Discuss the (New) 2023 - 2028 foreign trade (EXIM) Policy of India.

> s : 2 — aleusla ol
» Unit: 2 - Monetary Policy
5) RBI oll (@014 46l M1 - M2 - M3 - M4 - oll VAA Y-S
e Explain the RBI’S Approach of M1 - M2 - M3 and M4.
6) RBI o{l sleugla o{l[dolt 320 Axstcll RBI oll sttousla o{l[Qotl Atololl vAl 53

e Explain the Objectives of Monetary Policy of RBI and Discuss its tools of Monetary Policy
of RBI

7) MRcHl AFlaAF /7 AN3AA{ Aosloll s1Ho(3L ua Aol Yol AAL s3A.

e Discuss the Working and Problems of Nationalized Banks in India.

< Unit: 3 - Fiscal Policy
8) A5 oot (AL Ul UHAA.
v Discuss the Different tools of Fiscal Policy.
9) &2 Woll A UL Aol GESN / Sl AR Heedl UHHLA.

¢ Give the meaning of Public expenditure and Explain its Objectives (Purpose) and
Importance.

10) witL YaRlell a1 - w33l ual ystAoll Al 52
v" What is Deficit Financing ? Discuss its Necessary and Types.

> ASH : 4 — YHA ol
> Unit:4 - Federal Finance
11) AHAA ollRlicdotoll vallel Al MR AHL Fos Al AR <R sl W sllRligla Altellell aduell cauazal

ETRIL N



e Explain the concept of Federal Finance and Discuss its Functions and allocation of
Distribution between Centre and States in India.

12) 154 ettt (@AW ol vl
e Write a note Fifteenth Finance Commission.



T.Y.B.COM SEMESTER - 6
SUBJECT: CE303A- Management Accounting- 11
ASSIGNMENT (FEBRUARY - 2025)
(Gujarati Medium)

Q.1

Q.2

Q.3

As ddell GaUleol Hize] YHIRL Mgl ol Yxu B
HldUMHet | B | (BAEls (S 3.

A 50 8
B 30 8
C 20 10

A HLA GOUSe] YHIRL ELHA A AsHetl 10 % Fed B. Aol 8¢ elouR
BHd Guxdl olell. WRwR Geuleet 8,100 (5] 3.
VRUWR MU HLotell cuRlal Al UsaR o{lA Yru &dll.

HdUHet | (B | BAEls (Bud 3.
A 4,800 9
B 3,000 7
C 2,200 9

GURAS MUl uell HiduMLotoll Qs dLel:
YHIRA SIMER SALSL U dd] ] oll As WsHoll GUlEotoll €R olA WAL B:

SIHERL | ASHELS SCUS | SCUSElS €R 3.
590 8 5.00
@eigan 6 4.00
AL gaN 4 3.00

HWRWR (AotAl: Geulest 10,000 AsH

SIHELRL scllsl | sclsels €R 3.
590 90,000 4.00
@oiga | 51,000 5.00
AL 5AN 30,000 2.50

ol Aot [Quctollell oLl sA:

1) 1Rl W [Qudst

2) H3Rl €2 (Audet

3) R statHdl [Qucdst

4) 1R Mgl [Quctst

YR USAR Ugld 2@ 9 2 Aol SlAEL Wl HATELRA AU,
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Q.4

Q.5

Q.6

AR (A. ol A5 1ol U Wl WG A yYyu B,

(Qotct “Be | LRUR
GeUWlEat (ASHHL) 20,000 | 22,000
SLUSI% a1l SALSL 20,000 | 22,500
RAR @RAUDA wrl (3.) | 80,000 | 90,000
slH sl (& al 25 26

GuRell Ml uRell RAR et wlell ([Auetsll oLl
o(1A WA (Qotcdl uRell ARl Adldl o{lAail ([Auctsll N
1) Al Yeu [Qudst

2) AL FHd Quast
3) AL el QA
4) ARl AL (QRAASt
5) ARl Vel-s2al [Qucet

yHaL HRUR
cd el Bud 3. 2l (AsH) | (SHd 3.
(AsH)
A 800 3 750 3.50
B 200 5 450 4.00

sed (A A 2050 USl As 2ot wdleal 1A B, B €350l USAR (U 3. 10,00,000

©. €35 o] AYe 5 il B, & elouR (B otell. UABA A cdRall €2 10%

8. YUAURL A AU cllea(l el sl (A Yo 8.

oy | o -& 3. | AAA-A 3.
1 1,20,000 80,000
2 1,40,000 |  1,60,000
3 80,000 | 2,80,000
4 | 520,000 6,00,000
5 | 420,000 1,60,000

o(lAsll Ul yosol 2intell uriesll i suUslladl Uclls AW -

(1) URel U AHA
(2) Awy dcdHlet HeU
10% oll dalel €2 3. 1 o ccdulot Yeu o{lA Yru 8:

oy

1

2

3 4

AclHlot HEAU:

0.909

0.826

0.751 0.683

0.621
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Q.7

Q.8

Q.9

M. Ltd. s 2o WIlecl € 8. i 1 Aoll uHal A ([AsEl B.20A X wal 2

Y ol Belnd MR A Yoo B.
(Qatet AAX3. |AA Y 3.
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